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Al 4= x, y, 29 Fato] 4 o]|B2 ZF HFo]| et HAb= x4, y-

4, z—4 o|tt,
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(x=4)2+ (y—-4)2+ (z—4)?
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L (x=4)P+ (-4 +(2-4)? =6 °Ith.
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oAl Ffe] WMEER, 7, x, y, 9 &) o] 8olB=R

8+T7+x+y+9
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L xt+y=16---Q

E, Hito] solmg

(8 =8)2 +(7-8)%2 + (x—8)2
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LO-82+(9-8°
5
0+1+x%-16x+64+)y>—16y+64+1
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x% 4y = 16(x +y) + 130 e

x2+y?-16(x+y) + 130 = 25

x4y -16(x+y) =-105---©

©9] Al @= st

x? +y2=16(x+y) — 105 = 16 x 16 — 105 = 151
L x2+y2=151---©
(x+y)? = 2% +y> + 2xy,

162 = 151 + 2xy, 2xy = 105

5 4xy =210




3. 5709 WHE 4,5,x,11,y 2] Ho] 60]1 EA4o] 8 mff, x2 + y2 2]
e Fotofet.
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> HEgh: 58

441+ (x—6)2+25+ (y—-6)*> =40
x4y —12(x+y) + 72+ 30 = 40
x% 4+ y% = 12(10) + 72 + 30 = 40
nx2+y? =58
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Al 4= a,b,c®] Bato] 8o|B=
a+b+c
3

La+b+c=24---0Q

I, a,b,c EAto] 30|07

(a=8)>+ (b -8)° + (c-8)°
3

(a-8)2+ (b-8)2+(c-8)2=9

nat+b*+c2-16(a+b+c)+192=9

f19] Aol @2 tHdstH

a® 4+ b? +c?-16(24) +192 =9

a? + b+ ¢? =201
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